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1. The word ‘claustrophobia’ means 7. Fillintheblank with the suitable preposition:
(A) fear of darkness He presided the meeting.
(B) fear of crowds (A) over
(C) fear of confined spaces (B) at
(D) fear of water (C) in

(D) for

. 8. Selectth tan tofill in the blank.
2. Fill in the blank with the suitable option: Sl Riecomeclanswims .

She from the bus and walked to The ship, with its crew, _____lost.
the back-gate. () e
(A) boarded (B) was J
(B) stepped (C) were getting
009 ioved (D) was being
(D) alighted 9. A place where bees are kept —
(A) Aviary
(B) Abattoir
3. To feel ‘under the weather’ means (C) Granary
(A) feel depressed (D) Apiary
(B) feel uncomfortable
(C) feel unwell 10. Select the correct spelling:
(D) feel uncertain (A) Accommodition
(B) Accommodation
(C) Accomodation
4. The word vicissitude means (D), ‘Acommodation
(A) change 11. Add a suitable prefix to form the opposite
(B) stag of the word ‘capable’.
(C) uniformity (A) Uncapable
(D) stability (B) Noncapable

(C) Ill-capable

(D) Incapable
S. The synonym of supercilious is

(A) officious 12. The expression ‘holier than thou’ means
(B) superficial (A) pure

(C) delicious (B) religious

(D) haughty . (C) moralistic

(D) sanctimonious

13. The idiomatic expression ‘make both ends

6. The word ‘officious’ means meet’ means
(A) self-important (A) getby
(B) official (B) getover
(C) serious (C) getdone

(D) enterprising (D) get well



14. The idiomatic expression, once in a blue
moon, means

(A) rarely
(B) frequently
(C) regularly
(D) never

15. The antonym of the word weird is
(A) Normal
(B) Casual
(C) Tired
(D) Worried

16. Convert the given sentence into an
interrogative sentence:

1 will meet you tomorrow.

(A) Where will you meet me?
(B) How will you meet me?
(C) Will you meet me?

(D) When will you meet me?

17. Fill in with a suitable preposition:
He is taller than you
(A) with
(B) of
(C) in
(D) by

two inches.

18. The antonym of the word superficial is
(A) Deep
(B) Artificial
(C) Apparent
(D) True

19. The past tense of rewind is
(A) rewinded
(B) rewounded
(C) rewound

C-3

APTI PLUS

Academy for Civil Services Pyt Ltd.
CREATING CIVIL SERVANTS FOR THE NATION

20. The serenity of the place overwhelmed me.

Replace the underlined word with a suitable
word.

(A) Noiselessness
(B) Calmness
(C) Isolation
(D) Seclusion

21. Choose the right option:
While 1 in the library, someone
threw a ball through the window.
(A) was sitting
(B) was seated
(C) had been sitting
(D) am sitting

22. Which is the correct sentence?
(A) Anone-eyed personwas seenroaming
about the streets.
(B) A one-eyed person was seen roaming
about the streets.
(C) Theoneeyed personwas seenroaming
about the streets.

(D). One-eyed person was seen roaming
about the streets.

23. ‘La Gioconda’ (Mona Lisa) is

unique work of art.

Fill in the blank with the suitable article.
(A) the

(B) an

(C) a

(D) this

24. Fill in the blank with the right option:
He was offended
(A) at
(B) for
(C) with
(D) towards

me unjustly.

25. Choose the right word for love of oneself.
(A) Hedonism
(B) Masochism
(C) Narcissism

(D) None of the above

(D) Sadism
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26. The following state is the highest producer
of tin in India :

(A) Rajasthan
(B) Odisha

(C) Jharkhand
(D) Chhattisgarh

27. Sandhyakar Nandi was the court poet of the
(A) Mauryas
(B) Senas
(C) Hussain Shahis
(D) Palas

28. Which Sultan was not a slave before he
ascended the throne?

(A) Qutub-ud-din Aibak
(B) Iltutmis
(C) Alauddi
(D) Balban

29. The Chief Justice of Hi gh Courtis appointed
by the
(A) Prime Minister
(B) President
(C) Chief Justice of the Supreme Court
(D) Cabinet

30. Who coined the slogan ‘Swaraj is my birth
right’?
(A) Vinayak Damodar Savarkar
(B) Vasudev Balwant Phadke
(C) Bal Gangadhar Tilak
(D) Balkrishna Chapekar
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26. fsfere aremefi s erre ee wdiie
TeATE 25 2
(A) rErZe
(B) efex
(C) e
(D) Zfexiag

27. T T P AR TR e 2
(A) G areraes
(B) (7 A&
(C) TR e
(D) e ArEae

28. (I TS PRI SINC12e P S| 71
foe aire
(A) T9ITHe w7
(B) ZeTgefi
(C) Setefwme fRiefer
(D) =3

29. T 24 Rotaifs fige 2=
(A) 2493 7=
(B) =%eifex =
(C) T @IBT 24 RoEeifer =l
(D) ¥fR=6-97 ==t

30. “FE ST Tore SRR — 7 G
(A) s vieowva e
(B) IFMR IE TS
(C) A= siEheg foer
(D) IRTFR BitaHF



31. Ratioof therms speed and the most probable
speed for molecules in an ideal gas is

(A) \3:1
B) 1:13
(€) V3:\2
(D) V2:43

32. The Valley of Kashmirislocated in between
the following ranges :

(A) Zaskar and Pir Panjal
(B) Zaskar and Karakoram
(C) Karakoram and Shiwalik
(D) Zaskar and Shiwalik

33. The velocity ratio of the hour hand and
minute hand of a clock is

(A) 1:12
B) 12:1
(C) 24:1
(D) 1:24

34. Theleaderof the Narmada Bachao Andolon
is
(A) Anna Hajare
(B) Medha Patker
(C) Ramdev
(D) Binayak Sen

35. Which was the first incident of a British
official’s assassination after the revolt of 18577

(A) Assassination of British official W.C.
Rand by Chapekar Brothers

(B) Assassinationof British police officer
John Saunders by Bhagat Singh and
Shivram Rajguru

(C) Assassination of William Hutt Curzon
Wyllie by Madan Lal Dhingra

(D) Assassination of British police officer
Jackson by Anant Laxman Kanhere
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31. S SHITRE ST & rms (39 €38 most
probable (IC5F ST Z&7
(A) V3:1
B) 1:43
(©) V3:42
(D) V2:V3

32. IPAE Torera e sfemidefa s
S 2

(A) GIFF € Aaigle

(B) GIFF € FIACHAN

(C) TN ¢ e

(D) &= ¢ fifers

33, <fere w%r 31 ¢ ffwa $om sfeww
TS T
(A)'1:12
3B) 12:1
(0) 2471
(D) 1:24

34, Tt o1 SR oy W
(A) oI &R
(B) G #I6F<
(C) AN
(D) =T oW

35, 1857-47 “td 2w @ AEAfes o
SIACST T GIOTOAM FAANTIR oAl FCH 2
(A) Sioea @rgard &ioe «re oy, .
ANS-(F 9
(B) wore ie @ Tz arereza b= sjfert
SRR G AEPH-(T TN
(C) T gy T TR 26 I
T3f-F o
(D) T8 e IEE Te Ao L
TN )
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36. Vikramsila Bihara was founded by 36. e g @ B @ 2
(A) Devapala ( A) CRIGH
(B) Dharmapala (B) folE
(C) Rampala (©) AT
(D) Sasanka D)
37. Who said,“An eye for an eye will make the 37. (3 I, “BICE I (1Y et A e
whole world blind”? % = AR ?
(A) Martin Luther King (A) NI ajer e
(B) M. K. Gandhi B) . @. o
(C) Nelson Mandela (C) G STl
i (D) e 3l

38. Siachen glacier is located in the following 38. Priw e MsfRrs sferfice o1fFe ¢
range :

(A) =TT
(B) Zaskar « (©) Aot
. (D) Prifers
39. The Nobel Prize in Literature 2020 was 39. 2020 e AfRTSy I AT Grewt 7w
awarded to i fofd 2w
(B) John Dranow (B) John Dranow
(C) Peter Handke (C) Peter Handke
(D) Peter Ackroyd

(D) Peter Ackroyd

40. Which Bengal poet composed the song

40. IFXSTHT A (@I eI IR A IR
‘Ban eshechhe mora gange’ during the Partition of TR AMCE” S A5 B 2
Bengal? P
(A) Rabindranath Tagore (A) a1 o1
(B) Lalan Fakir (B) =1 wfeg
(C) Kazi Nazrul Islam (C) Gt Tozwat TN

(D) Mukunda Das

(D) I Wy



41. Sabooj-Sathi is a scheme for distribution of
Bicycles to students of Government/Government
Aided Schools/Madrasahs reading in

(A) Classes IX to X
(B) Classes X to XI
(C) Classes XI to XII
(D) Classes IX to XII

42. Which animal was part of the symbol of
Netaji's INA Flag?

(A) Lion
(B) Elephant
(C) Tiger
(D) Rhino

43. Pure silicon at 0 K is
(A) semiconductor
(B) metal
(C) insulator
(D) superconductor

44. Which is the Direct Tax in India?
(A) VAT
(B) GST
(C) Wealth Tax
(D) Excise Duty

45. Nameofthe supercyclone ‘Yaas’, was given
by
(A) India
(B) Oman
(C) SriLanka
(D) Bangladesh
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41, HAfRoTRT FRIET FIG-AA A TR/
RPN/ MEe/RueEe @ @fte 2ies
QIR AT e T 2

(A) 7w (efet iz W cfet
(B) I (fet (et @i e
(C) @i fdt (T wivt it
(D) 7 (2fd (e g i)

42, (TSGR SV 2% (RIS 2SR (FIN 21T
if oS fow e

(A) Pz
(B) 2f%®
(C) g
(D) e

43. 0K @ 2w Fifere 26
(A) SR
(B) 49
(C) TITT

(D) wifesfEaR

44, SIATS ACTF I AL ?
(A) VAT
(B) T«
(C) =W
(D) &S

45. “Yaas' T G I AR, A W TR
(A) ©IFS
(B) &=
() Terst
(D) RS
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46. Badland topography is an important
characteristic of the following region :

(A) Gulf of Kutch
(B) Sundarban Delta
(C) Konkan Coast
(D) Chambal Valley

47. What was the ‘Eka Movement’?
(A) A Religious movement
(B) A Peasant movement

(C) A Secret revolutionary movement
(D) None of the above

48. Which among the following novels of

Sarat Chandra vividly reflected the revolutionary
movement of India?

(A) Srikanta

(B) Pather ﬂ
(C) Palli Samaj

(D) None of the above

49. The power of a lens is +2-0D. The focal
length of the lens and its nature are

(A) 50 cm, concave
(B) 50 cm, convex
(C) 100 cm, convex
(D) 100 cm, concave

50. The spectrum of color in Compact Disc
(CD) is due to

(A) Refraction
(B) Reflection
(C) Diffraction
(D) Polarization
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46. g fafiie wwwEm @3 awgsd
PRy 3

(A) T2 Topilof
(B) ¥adw 3317
(C) @& Borpat
(D) 5%& Toiert

47. ‘93! WIEw i fewi 2
(A) @36 @37 Siewe
(B) 9=fb I3 wTHIeT
(C) @3f> cottol A2 e
(D) THAET @D 77

48. *[FBIHT @ Iz ©RTeT [
RIS A8 Aforer a7 a1 fHicafee 2

(A). Are

(B) it widt

(C) & e

(D) ©oIR (IEAIDR 7

49. @3 =T TS +2-0D | GG PRI
oy @R 2P 2=

(A) 50 cm, SIF@s

(B) 50 cm, T&w

(C) 100 cm, @A

(D) 100 cm, STws

50. FWo13 f&F (CD)-(o @ 3 ot 71 Wi
F7el

(A) eafese
(B) afewew
(C) Toéw (jaée)

(D) s



51. JosephRobinette Biden Jr., the 46th President
of the USA belongs to the political party named

(A) Republican Party
(B) Labour Party

(C) Democratic Party
(D) Nationalist Party

52. Although the final match between England
and New Zealand was a tie, England won the 2019
ICC World CUP. The reason was

(A) England was the host nation.

(B) England won Super Overby boundaries.
(C) England won by toss.

(D) New Zealand lost for match-fixing.

53. Accordingto WHO, the official name of the
virus responsible for Covid-19 disease is
(A) SARS-CoV-2
(B) Covid-19
(C) nCovid-19
(D) Corona Virus

54. The boundary line of Sundarban was
demarcated by
(A) Hamilton Saheb
(B) Major William Tolly
(C) Scott
(D) Dampier and Hodges

55. Who founded the Asiatic Society in
Calcutta?
(A) Alexander Cuaningham
(B) John Stuart Mill
(C) William Jones
(D) David Hare
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51. Joseph Robinette Biden Jr. 2(&T SR
TEANZ 8u-oF APeifs | o @ e effefafag
FACA

(A) Fotrafermsa i
(B) TR =i

(C) e Aif
(D) XIFERG #AifS

52, T FAW F A AEE 2019 7w ICC
@ el 3e ¢ SfEEe-aa Sy 28, ©ite
e Rem o, P19

(A) BTG ST (7 2w |

(B) oI ¢oIF-4 AT 3501 (3 e |
(C) ZETS BE (S0 |

(D) FefEmTe syib-RFer <+ |

53, WHO-99 e Covid-19 o= &= W&l
(A) SARS-CoV-2
(B) Covid-19
(C) nCovid-19
(D) TR ORI

54, FFEAGTA S o e
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56. Who wrote Amuktamalyada?
(A) Rajaraja Chola
(B) Harshavardhana
(C) Deva Raya
(D) Krishnadeva Raya

57. Who is the present Chief Election
Commissioner of India (as of June, 2021)?

(A) Anil Chauhan
(B) Sushil Chandra
(C) Sunil Chandra
(D) Anil Malhotra

58. Under which amendment of the Indian
Constitution the voting age reduced to 18 from 21?
(A) 60th
(B) 62nd
(C) 61st

(D) 63rd 1

59. Article 18 of the Indian Constitution
guarantees the right to

(A) Equality

(B) Freedom

(C) Freedom of Religion

(D) Right to Constitutional Remedies

60. Who has been named the captain of the

Indian Men’s Hockey Team for the Tokyo
Olympics?

(A) Manpreet Singh
(B) Harmanpreet Singh
(C) PR Sreejesh

(D) Birendra Lakra
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56. SHGWEC-T WS T2
(A) IS (BIF
(B) TREq
(C) ¢RI
(D) TR0 A

57. June, 2021 RETR SRS I6T1w =7 s
FhMT @

(A) =fe G
(B) P v

(C) e 5%

(D) ©Ife MR

58. SIRISR I i RPN 71 (S
I 21 (A I 18 331 27 2

(A) 6093
(B) 6299
(C) 6197
(D) 63 %%

59. R 18 TR Seyroaw oo zmm —
(A) sy

(B) F&e!
(C) 43w T1&Tor
(D) =Feifee 2féfuime st

60. ST (516 SfFifH»ia oy wrTes a2
mwfmﬁmmmmﬁmm?

(A) Tware i

(B) s fig

(C) . =iz, At

(D) A= wige!




61. Family Income Ceiling for Kanyashree
Scheme is not applicable if

(A) the girl is physically challenged.
(B) the girl is an inmate of JJ Home.
(C) the girl has lost both parents.
(D) All of the above

62. Money Bill is finally determined by
(A) Prime Minister
(B) Speaker
(C) Leader of the opposition party
(D) President

63. Khajuraho,‘the City of the Gods’ a
UNESCO World Heritage Site, the name of which
was first referred in the 11th century CE by

(A) Ibn Battuta

(B) Ibn Sina
(C) Abu beruni
(D) Om am

64. Bengal Revolutionaries were largely
inspired by which Revolutionary movements of
Great Britain?

(A) Scottish

(B) Irish

(C) Welsh

(D) None of the above

65. ‘Perseverance’ rover was successfully
landed by NASA on the surface of

(A) the Moon
(B) the Mars
(C) the Jupiter
(D) the Sun

C-11
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61. AFETTH FIIIET TR AFET CHE
IHAifaaifas Siwe TR Ay 7y @

(A) I =Afe afoad =11
(B) FWif5 JJ Home-43 Aifm 231 |

(C) T O A Femtas AR M |
(D) ToAFT AIF0Z

62. w<fe porgeiR fadfad s
(A) 2geR
(B) =A%l
(C) R veeTet
(D) AgAfe

63. TR *12F’ IgEIE UNESCO T
e HiZD, @M% @ *ore AL T IR
&, fof 2=

(A) T3 Igel

(B) T3 Al

(C) =Y T2 AR
(D) @7 (A

64. e 2T (b [FEED @ (38RS 4™
77l Saifte ZRfRE?
(A) B
(B) wizfam
(C) €T
(D) Tl @R 77

65. ‘Perseverance’ It w-(2AfR® @rerb @
B AFEDR ALY SO FA AR, ©f 261

(A) b
(B) e
©) e
®)
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66. What is the limit of the Annual turnover for
small enterprises?

(A) 5 crores to 75 crores rupees

(B) less than 5 crores rupees

(C) Between 75 to 150 crores rupees
(D) Between 150 to 200 crores rupees

67. Who was the Mughal emperor during the
Revolt of 1857?

(A) Aurangzeb

(B) Mir Qasim

(C) Bahadur Shah II
(D) Sarfaraz Khan

68. The Sundarban is declared as ‘Ramsar site’
in
(A) 1987
(B) 1972
(C) 2018
(D) 2019

69. Who is the custodian of the Indian
Constitution?

(A) President
(B) Vice-President
(C) Parliament
(D) Supreme Court

70. ‘Dandi March’ had inaugurated which
movement?
(A) Swadeshi-Boycott Movement
(B) Non-cooperation Movement
(C) Civil Disobedience Movement
(D) Quit India Movement
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66. ¥ TSR AT @I A
(A) 5 @ @ 75 @ Bt
(B) 5 6 5o N5
(C) 75 (/= 150 b Bt
(D) 150 (= 200 @D Bt

67. 1857-493 Rtwitaz 5% (< ¥& 716 2 ?
(A) SNETHEI
(B) = =ifim
(C) st gz g
(D) awae 4

68. VI AR R A (TN dA
(A) 1987 f&5itar
(B) 11972 fas51t=
(C) 2018 f&oic
(D) 2019 Bt

69. ©SR R M (custodian) 2
(A) AFfS
(B) To-aigeife
(C) refitrs
(D) fem i

70. % ST @N AEAT S
ATz Spoet T2z 2

(A) FOPN-TTEG ST
(B) SPIRTANS ST
(C) SRS o1y SewieTs
(D) ©IF® QTS SrwiEs



71. Which part of the world was the agenda of
Khilafat movement involved with?

(A) India
(B) Arab
(C) Iran
(D) Turkey

72. ‘Letters from Burma’ is a book of essays
penned by
(A) Aung San Suu Kyi
(B) Rashbehari Bose
(C) Sarat Chandra Chattopadhyay
(D) Subhas Chandra Bose

73. In terms of thermal conductivity (k) and
electrical conductivity (3), diamond has

(A) Jlowkand high &
(B) highk and low &
(C) high'kand high &
(D) low k and low &

74. When was the University of Calcutta
established?

(A) 1911
(B) 1817
(C) 1854
(D) 1857

75. Who was known as the ‘Sher-i-Bangal’?
(A) Fazlul Haque
(B) Haji Muhammad Mohshin
(C) Maulana Abul Kalam Azad
(D) Nawab Salimullah
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71. RIS A 5 ST (I S o
o7 (RAfFRTS qHRE, (PR (01 & 2

(A) Slg9
(B) =99
(C) T
(D) g

72. ‘Letters from Burma’ WIT3E 29% 7% 320
fertat=s

(A) =8 = 3 fo

(B) IR

(C) *A<5® HUBITNE
(D) ToIv™ ]

73. wifm #R<Ee (k) @35 ofte ofFfRe
(8)-3 FHATH 247 (diamond) AT
(A) ke T®
(B) T k¢ =¥ 8
(C) % k@ TH 5
(D) o k @22 9% &

74, =Frarel FRmER W e e e
(A) 1911
(B) 1817
(C) 1854
(D) 1857

75, ‘GIE-2-ARE IS 6 29?2
(A) TEEy 2®
(B) Ifer srzrm A
(C) G S e Sem
(D) 7AIR GITEE
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76. The highest peak of the Eastern Ghats is
(A) Mahendragiri
(B) Nilgiri
(C) Jindhagada
(D) Anaimudi

77. NRC is now in form of a
(A) Draft
(B) Bill
(C) Act
(D) None of the above

78. ‘Chipko Andolon’ is known as
(A) Fe vement
(B) Tri ement

(C) Political Movement
(D) Caste Movement

79. Which Medieval ruler introduced Ain-i-
Dahsala?

(A) Balban

(B) Feroz Tughlaq
(C) Sher Shah
(D) Akbar

80. Neeti Ayog was formed on
(A) January 1, 2015
(B) January 1, 2016
(C) January 1, 2017
(D) January 1, 2018
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76. =A% AFeTET A 3% @
(A) Sz
(B) iz
(C) Temiaimt
(D) wiZafw

77. G992, IEE
(A) 377!
(B) fa&
(C) wiZw
(D) TH=F @0 53

SPICI SR

78. it S 2= wifafoe |
(A) FIRAW e

(B) ToereR Sitwie
(C) rEtaes STwiets
(D) ©Ie9iI® S

79. RN WA P -3 AT
FE?

(A) I

(B) frars gueies
©) ==z

(D) ©%<<

80. Fife-wncae sifde =z
(A) == Sz, 2015 wifae
(B) =% Eleidt, 2016 ©ifica
(C) =t wiegadt, 2017 ©ifae

(D) #7 Sz, 2018 ©ifare



81. Which revolutionary leader made ‘mercy
petitions’ from jail?
(A) V.D. Savarkar
(B) B.G. Tilak
(C) Sukhdev Thapar
(D) Chandra Shekhar Azad

82. Who propagated the ‘safety valve theory’
and about which organization?

(A) A. O. Hume, about Indian National
Congress

(B) Lord Dufferin about
Association

(C) Charles Tegart for Zamindari
Association

(D) Low ulay for British-India
Le

83. The Asiad Gold Medalist Boxer passed
away recently at the age of 42. Who is he/she?

(A) Pooja Rani

(B) Dingko Singh
(C) Amit Phangal
(D) Shivaa Thapa

Indian

84. Khutba was

(A) asermon read in the name of the ruler
at Friday prayers.

(B) aroyal order.
(C) areligious decree.
(D) atax.

85. The largest glacier of India is
(A) Pindari
(B) Gangotri
(C) Siachen
(D) Hispar
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81. @ Ra} @ @& @ WH P#o
PN ?

A) fe. fo. srerzes
B) f. f&. fes
(C) &I AT
(D) BHCAT SEw

82. (3 (W 2SI F=TE TR Ol ©F &b
ARt ¢

(A) &, 6. BTN, ST T B T
(B) 16 TR, SRS Fe! A=t

(C) BIs (BN, T TeiE

(D) &6 G, Rfoe-2fea At s

83. Gfm (R TR TR Arefes
42 T2 TE! 2AS AT | S A P2

(A) =@ AR

(B) fezsat fie
(C) wIfsrs TR
(D) frat it

84. Yo oL =&
(A) SFAES AT T AR A AfdS
TATH |

(B) AT SCHI! |
(C) 4T STt |
(D) €% 34|

85. ©rren 7z R =
(A) forerfd
(B) &
(C) Frmsw
(D) &
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86. Mica producing district of West Bengal is
(A) Bankura
(B) Paschim Bardhaman
(C) Birbhum
(D) Purulia

87. Who wrote Ramcharitmanas?
(A) Harisena
(B) Harshavardhana
(C) Tulsidas
(D) Joydev

88. A battery consists of 10 cells, each of emf
1V.If2 cells are wrongly connected, the emf of the
battery becomes

(A) 8V ‘J
(B) 10

(C) 6V

D) 12V

89. The following river divides West Bengal
and Assam :

(A) Raidak
(B) Sankosh
(C) Kaljani
(D) Chel

90. Which Turkish Sultan introduced the Igta
system?

(A) Alauddin Khilji

(B) Balban

(C) Iltutmish

(D) Muhammad Bin Tughlaq
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86. ~MRSTAHT TG TeAVHRIA (STl TE
(A) Jge
(B) #if*sw 3gaI
(C) g
(D) sfefemal

87. AN TR 3w
(A) ZRCW
(B) Zqdq
(C) gevIm

(D) TR

88. «3fs yhHifRre 106 @ vy 77 =il
SfCLsIETe 79 2o 1V 3f 2f6 PR gerenR g
U, IR FHIRT Sfeese 2a 21

(A) 8V
(B) 10V
(C) 6V
(D) 12V

89. fisfafe A7 +AFswax @ wpm oo
IR ¢

(A) TR
(B) ram
(C) sty
(D) &=

90. (W O T 3@ A7 RET I 2
(A) OIS Refe
(B) I@T_w
(C) TErgefiny
(D) wz9m R goere




91. Who wrote the drama Neeldarpan?
(A) Harishchandra Mukherjee
(B) Girishchandra Ghosh
(C) Dwijendralal Roy
(D) Dinabandhu Mitra

92. Thenew station constructed and established
by India in March, 2012 for scientific research in
Antarctica is called

(A) Priyadarshini

(B) Bharati

(C) Maitri

(D) Dakshin Gangotri

93. Hydraulic press is based on
(A) Archimedes law
(B) Pascal’s law
(C) Reynold’s law
(D) Bernouli’s law

94, A person on a swing stands up. The time
period of the swing

(A) increases

(B) remains the same
(C) decreases

(D) becomes zero

95. Who was the editor of the nationalist
newspaper ‘Sandhya’?
(A) Satish Chandra Mukhopadhyaya
(B) Bramhabandhab Upadhyay
(C) Sisir Kumar Ghosh
(D) Bhupendranath Datta
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91. el WG PIA T 2
(A) 25" LA
(B) fordmibe e
(C) Tatermene Al
(D) Tiwag

92. W15, 2012 A (TS@F STERNE To) SIS
SO @ EoHD e oF FIN

(A) fermtaar
(B) STl

(C) @

(D) W sirstal

93, ZREFT (AR FfRIGe fofe =
(A) wifFfifer= @
(B) #ATHITETR 7
(C) @SR 7
(D) AMHfera 78

94, IR AEIE T AP ETRD s AN
wiEwE offTeE

(A) AT

(B) IR AU
(C) ¥R

(D) [ 22

95, ST’ M GIOASIAM FRAMATIZ AW
& e

(A) T 58 LG
(B) AR TAGI
(C) Tz TR R

(D) gloiE=I e
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96. The largest IT company in India is (as of
June, 2021)

(A) Wipro

(B) HCL Technology
(C) TCS

(D) Tech Mahindra

97. The confluence of Bhagirathi and
Alakananda is located at

(A) Rudraprayag
(B) Devprayag
(C) Haridwar
(D) Allahabad

S

98. Which Mus eral conquered Bengal

in the thirteenth century?
(A) Timur
(B) Iqtiaruddin Bin Baktiar Khilji
(C) Chenges Khan
(D) Abdur Rahim Khan i Khanan

99. The Subaltern School of historiography
was spearheaded by

(A) Shahid Amin
(B) Ranajit Guha
(C) Partha Chatterjee
(D) Goutam Bhadra

100. Ibn Batuta came to India during which
rulers’ reign?

(A) Akbar

(B) Sher Shah

(C) Muhammad Bin Tughlaq
(D) Alauddin Khilji
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96. T, 2021 R SR0e7 72T @i
&

(A) Wipro

(B) HCL Technology
(C) TCS

(D) Tech Mahindra

97. IR @ TERTIR ALAINEH SIS
(A) FH2o-q
(B) (&4
(©) TREr-9
(D) ERIAM-9

98. (I AR GIIIEE Q1 *1ST T &
JEAN?

(A) o

(B) Henwim e afewz Reafe
(C) cofore <

(D) S_v3 3R A 3 A

99. & fornsfa Hfo2PI6 Sp5a1 TR 2
(A) =ifew Sifiw
(B) F=fere @y
(C) i< BribreT
(D) (frew ©g

100. 37 AGS! @ FEBA A SRS
N ?

(A) W3R
(B) ¢F =g
(C) Wz = geeres

(D) wreefim Rafe



101. Who was the Chief Guest of Republic
Day, 2021 in India?
(A) President of Sri Lanka
(B) PM of Bangladesh
(C) King of Bhutan
(D) None of them

102. To which following movement is the term
‘ulgulan’ associated with?

(A) Munda uprising
(B) Santal uprising
(C) Kol uprising

(D) Gurkha uprising

103. Gandhiji was influenced by
(A) Tolstoy
(B) Dickens
(C) Marx

"8

104. Inter-state council is formed by the
(A) Prime Minister
(B) Parliament
(C) Chief Justice of India
(D) President

105. Who among the following freedom fighters
did not belong to revolutionary (militant)
nationalism?

(A) Veena Das

(B) Santi & Suniti
(C) Matangini Hazra
(D) Kalpana Datta
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101. 2021 5 ©RATeF Sreg W Swaeiwa e
2y Sifefe & R 2

(A) JFT AFARS
(B) AT 2tz
(C) POITA A1t

(D) ToART (@02 7

102. THwEw *@H WEFRe @W SRR
K TGOS 2
(A) TSIl
(B) fewre Srgiiie
(C) & TrgA
(D) Cordt STgre

103. sif&fE Aei® 2@fRE=
(A) TeBH BRI
(B) T =4
(C) (3 =

(D) feicw ==

104. S1E-31ey AW oifFe =@
(A) IR 7
(B) ARGTo-97 =il
(C) ©rTed 24w prvifes =
(D) g =t

105. FsfERe @ FT WAf wE [aR
GOy s fare w12

(A) et Wi

(B) *f¥ @ FifS
(C) oAt gt
(D) T&« W&
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106. The variability of rainfall during August in 106. ST 56 W q&vrrm OB RIBIELIC)
India would be more pronounced generally at iEE T =
(A) Kolkata (A) TS
(B) Ranchi B) #f
(C) Jodhpur
(D) Lucknow (©) @
(D) #C-4

107. The following coastal area of India was 107. ©rRtes fsfiie Sopan wwwl® o
affected by ‘Hudhud Cyclone’ :

Y- 711 2SI ¢
(A) Chennai coast (A) GAR @W
(B) Kerala coast @) cEmI @‘V@E
(C) Andhra coast
(D) Bengal coast (C) o ToAge
(D) 3% Togpe

108. The Election-Commission is constructed 108. <iow =fpiw 1o+ @

by the
(A) Vice- Eg; 2::?;'%
(B) Prime
(C) President (©) wgAfe
(D) Chief Justice of India (D) eIFtes 2yl [pisife

109. Dry ice means
(A) Ice at -23°C
(B) Ice at4°C

109. &% 37T 35
(A) -23°C Txeolq 399

(C) Solid SO, % :sf; ﬁsa;m T
(D) Solid CO i
2 (D) =fm CO,

110. Largest wind farm of India is located in

110. SIS 378 e Tesim e e
(A) Tamil Nadu &

(B) Andhra Pradesh EB; :T:WW

(C) Maharashtra AT

(D) Gujarat (C) =1y

(D) STRH




111. The freezing chest in refrigerator is kept
near the top because

(A) it is convenient to use.
(B) it reduces cost.

(C) it cools the remaining space by the
process of conduction.

(D) convection currents are set up.

112. In West Bengal, Export Processing Zone
(EPZ) has started functioning at

(A) Raichak
(B) Falta
(C) Kakdwip
(D) Haldia

113. The responsibility for printing currency
notes in India lies in and of

(C) Reserve Bank of India
(D) State Bank of India

114. Who was the Governor General of India

when Gandhiji initiated Civil Disobedience
Movement?

(A) Lord Hardinge
(B) Lord Minto

(C) Lord Linlithgow
(D) Lord Irwin

115. Indiaisa
(A) Union of states
(B) Federation
(C) Confederation of states
(D) Unitary
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111. ERFEIE5ET 9% @ (freezing chest) THw@
A FIEY 57—
(A) =& JRT FAT I |
(B) T 725 = |
(C) ~AfReez g A S Areaad
I A |

(D) “favew &@re tofs 23|

112. #fs%3% ‘Export Processing Zone’
(EPZ)~43 3o sjaeire 9%

(A) T
(B) oo
(C) TRl
(D) =z

113. SIATS HIFE @6 AR 7y Stz
(A) weEF-97
(B) &4iwwE SFH-aF
(C) fawré iT-93
(D) (B0 TG

114, MR SRS SR A (F ST
@IEE foree

(A) =76 2T
(B) =16 fco!

(C) =7¢ femferaa
(D) 6 WFTH

115. ©iF© @3
(A) GRS TR
(B) J&I1g
(C) G TR

(D) GFFHE
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116. The Partition of Bengal was annulled in
(A) 1905
(B) 1911
(©) 1901
(D) 1947

117. Members of the Public Accounts Committee
are elected by

(A) President

(B) Speaker

(C) The members of the both Houses of
Parliament through the method of

proportional representation by single
transferable vote.

(D) Prime Minister

118. Which Indian Nationalist L.eader is known
as ‘Grand Old Man of India’?

(A) Badrud yabyji
B) S Banerjee
(©) hna Gokhale

(D) Dadabhai Naoroji

119. In India, topographical map is published
from the following organization :

(A) NATMO
(B) GSI
(C) SoI
(D) ZSI

120. Inflation is
(A) one time price level rise.
(B) increasing profits in production.
(C) increase in deficit financing.
(D) continuous increase in price level.
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116. (3 AE I7HSH I W 2
(A) 1905
(B) 1911
(C) 1901
(D) 1947

117. e Spees St s Fifoe 2
(A) AT =
(B) ™ApIg-4 714l
(C) FACoT TSAICHFT TPV G
TWICAI TN effeffay oafoa
T |
(D) 24w =l

118. (FI9 SRS TOTORIA (FOIF ‘WS 676
U1 o B 2@ 2w

(A) IRCe CoTIE!

(B) @E=I W&

(C) CoNtoleTpae (SMIRITe

(D) "SRR (NS

119. ©rRre WEGERe 7@ (A G
Neba oife 23 ¢

(A) NATMO

(B) GSI

(C) SOI

(D) ZSI

120. @RS Z
(A) G T© U I |
(B) Tesiwa cRawfis s 3% |
(C) wiofe 353 3 |

(D) @15 e i |



121. The waves produced by motor boat sailing
on water are

(A) transverse

(B) longitudinal

(C) longitudinal and transverse
(D) stationary

122, Pakistan Resolution was taken on
(A) 16th August 1946
(B) 26th January 1935
(C) 14th April 1942
(D) 23rd March 1940

123. What was the original name of Titumir?
(A) Syed Amanullah Khan
(B) Syed Mir Nasar Ali
(C) Syed Amir Ali
(D) Syed Mir Muhammad Khan

124. New Delhi, the new Capital of India was
inaugurated by Lord Irwin in the year

(A) 1905
(B) 1911
(C) 1931
(D) 1947

125. When did Sakabda commence?
(A) 78 A.D.
(B) 78 B.C.E.
(C) 178 B.C.E.
(D) 178 A.D.
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121. (NG9 (3G befa 7w Tge wawmafa &x
(A) foifs
(B) W{urel
(C) fod= @ el
(D) &g

122, Tefafie @w wifin offswm 2w
(resolution) (RET! TEITRET ?

(A) 163 =955 1946
(B) 260 @it 1935
(C) 143 «few 1942
(D) 23¢4 5 1940

123, SIe=a S 1w F 2w e

(A) T SsieE! Qe
(B) TRm Tw TR et
(C) I SR St
(D) W M I A

124. SRCST ATl g fiE o6 S Sralge

(A) 1905 Al
(B) 1911 3iita
(C) 1931 e
(D) 1947 A1

125, *RICR B 3P WO ?

(A) 78 A.D.
(B) 78 B.C.E.
(C) 178 B.C.E.
(D) 178 A.D.
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126. Sharavati Hydroelectric Project is located
in:

(A) Kerala

(B) Karnataka

(C) Maharastra

(D) Madhya Pradesh

127. Who among the following cricketers won
the Rajiv Gandhi Khel Ratna award, 2020?

(A) Virat Kohli
(B) Sikhar Dhawan
(C) Suresh Raina
(D) Rohit Sharma

128. is'c “His Superfluous
Highness”.

(A) The President
(B) Vice-President
(C) Governor
(D) Speaker

129. Who is the author of Allahabad Pillar
Inscription?

(A) Rudradaman
(B) Harisena

(C) Samudragupta
(D) Banabhatta

130. Solder used for joining metal parts together
is an alloy of

(A) Feand Cu
(B) Fe and Zn
(C) Snand Cu
(D) Sn and Pb
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126. AR TEARY A7 (PIA SIFS 2
(A) @ :
(B) 6%
(C) w==1g
(D) ST

127. 2020 AETE AER AR (TG ATFR A
B3 @ fFoae

(A) R gl

(B) ™z qigaw

(C) P AR

(D) g =sf

128, “TRRHTIRNRY N CROSA |
(A) TGl
(B) Torapeifers
(C) FETAE
(D) ™R

129. @=RAM 2R RS W
(A) wawae
(B) TReW
(€) e
(D) ST

130. 49T 2 (ST T+ JIF® T IR
A ?

(A) Fe @k Cu
(B) Fe @3k Zn
(C) Sn«¥ Cu
(D) Sn«3 Pb
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131. According to the Census of India 2011,
which one of the following Union Territories had
the highest sex ratio?

(A) Chandigarh
(B) Puducherry
(C) Lakshadweep
(D) Daman and Diu

132. Which commodity tops the current list of
imported commodity of India?

(A) Gold

(B) Platinum

(C) Petrolium products
(D) Petrolium crudes

133. Whatisthem
that can be avai
Gatidhara Sche

(A) Rs.

(B) Rs. 1,00,000
(C) Rs. 2,00,000
(D) Rs. 5,00,000

Government Subsidy
beneficiary under the

134. When was the First Industrial Policy
resolution taken?

(A) 1956
(B) 1947
(C) 1948
(D) 1951

135. The solar cooker works on the same
principle as

(A) Bolometer

(B) Pyrometer

(C) Greenhouse

(D) Solar PV cell

131. SRS SmeF 2011 S, Fafae
@ =TS S e fomt Srote qwR?
(A) D8TE
(B) “A0fa
(C) =Armralst
(D) %+ @ e

132. SIS ARVINIGS A TR T (P 7foa
I 22 ?

(A) G

(B) #ifoa

(C) coifera oiely

(D) S*iifE® (orGiferams 2o

133, «Afowa% FHIEE fSuR’ oFEmR aIEw
BTG A TS B TR TG (TS 2T ¢

(A) 50,000 B!

(B) 1,00,000 Btz
(C) 2,00,000 Bzt
(D) 5,00,000 B

134. (@ IR 2% RERET 28 2z T3 22
(A) 1956 A=
(B) 1947 A&
(C) 1948 A=
(D) 1951 FAI&A

135. GTpR (W Ao Btz fofe o 1w 7R 2
(A) Q@TEfDR
(B) #RfoE
(C) famareH
(D) G SETFefee @
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136. Government of India passed the Act to
protect the human rights in the year

(A) 1990
(B) 1993
(C) 1995
(D) 2002

137. Mansab means
(A) A rank or office
(B) A military general
(C) A grant of revenue free land
(D) A religious text

138. Judges of Supre
(A) 60 years
(B) 62 years
(C) 65 years
(D) 70 years

atthe age of

139. Kurnool-Kudapa Canal is taken off from
the following river :

(A) Cauvery
(B) Krishna

(C) Tapti

(D) Tungabhadra

140. Central Rice Research Institute is located
in

(A) Cuttack
(B) Dhanbad
(C) Kanpur
(D) Coimbatore
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136. ©IF® FIF WGP e Fa00 Wiz
A I

(A) 1990 =teT
(B) 1993 itst
(C) 1995 Aitst
(D) 2002 tet

137. W37 9 77
(A) 2% 3 Aviat
(B) G

(C) ez ghimm
(D) wferg

138. faw @ha pa«ifen s aa9
(A) 60 3R
(B) 62310
(C) 6531
(D) 70 3=

139. fasfaife 77l (U FE-gesi A fefe
AR ¢

(A) IR
(B) T
(©) o
(D) wereml

140. (R 47 NRFN e SRAFFS
(A) F5C
(B) 41w
(©€) IR
(D) REFHR



141. The binary equivalent of decimal number
4-625 is

(A) 100-001

(B) 100-110

(C) 100-101

(D) 100-011

142. Who was involved with the
Independence League’?

(A) Deshbandhu Chittaranjan Das
(B) Mahadev Govind Ranade

(C) Ananda Mohan Bose

(D) Rashbihari Bose

‘India

143. President of India is elected by
(A) Members of the Parliament.
(B) Members of the State Assemblies.
(C) Directly by the people.
(D) Both the Houses of Parliament along

with the Members of the State
Assemblies.

144. What was the major symbol of Mahatma
Gandhi during his non-violent freedom struggle?
(A) His looking glasses
(B) His charka (spinning wheel)
(C) His walking stick
(D) His cap

145. If the length of the filament of a heater is
reduced by 10%, the power of the heater will

(A) increase by about 9%

(B) increase by about 11%
(C) increase by about 19%
(D) decrease by about 10%
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141. 7ifS=s <2 4-625-97 3 (Binary)

(A) 100-001
(B) 100-110
(C) 100-101
(D) 100-011

e FATroice™ Ae-aa A @ Giow

(A) o foeage v
(B) SR (aitfas giece
(C) =™ (e @
(D) @RS @

(A) ARTGICST W 4 |
(B) ey fRaiprentes A ime @ l |
(C) TW9NR B eFFelld |

(D) Ao 7 Wy O3 ey FyerTer-
A TR A |

144, T2 SN2 SETIRI SRS 2 240 B

(A) ©F o#if
(B) ©F 53
(C) ¥ =Y
(D) 12 G

145. 9= RBoias oima e 10% a1, s

(A) IR 9% AGA |
(B) SIf< 11% A%tA |
(C) S 19% e |
(D) =i 10% F963 |
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146. Shanti Swarup Bhatnagar Prize is awarded
in the field of

(A) Peace

(B) Science and Technology
(C) Medicine

(D) Economics

147. The recently much talked about ‘toolkit’ is
basically

(A) an e-commerce platform for online
transaction.

(B) asocial media site meant for hackers.

(C) adigital equivalent of pamphlets and
fliers that helped mobilise protesters.

(D) an assemblage of sophisticated
electronic gadgets.

148. Researchers h
antibody of which vi
cave?

(A) Nipah
(B) Ebola
(C) Covid 19
(D) Zika

iscovered recently
from Mahabalaswar

149. A boat floating in a tank is carrying some
passengers. If the passengers drink water from the
tank, how will it affect the water level of the tank?

(A) It will go down.
(B) It will rise.

(C) It will depend on the atmospheric
pressure.

(D) It will remain same.

150. Punarbhava and Atrai are the distributaries
of the following river :

(A) Torsa
(B) Teesta
(C) Jaldhaka
(D) Raidak
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146. *fEFHol SH751F (@ CFG (RS 7, G106 =&
(A) =if%
(B) @M ¢ agfe
(C) Pl
(D) wigAif®

147. STt I2He ‘toolkit’ SIE 26

(A) Swazs Rfawma o @3 2l
20152 |

(B) R & a3 {0 iifers fifea =izt |

(C) fofetm abiasg T afeam FRese
ARG |

(D) SifbeT ZCARG P TG AR |

148. RS ArRfeFE TQAEHET 9
JLAA?

(A) faeil

(B) Zam
(C) @feT 19
(D) fe=t

149. (@I TR OIS A (FIE At IW
T (YT T2 B, O Gt Sed (@0ee
I e

(A) B @™ WE|

(B) T To3 |

(C) ITNEAT BIeoia Tog S F2c3 |
(D) G2 U |

150. +7E31 @ ST 2e fRnfrie smba =i 3
(A) corff
(B) fest
(C) oI
(D) ATCE



151. Whom among the following historians does
not belong to the Aligarh School?

(A) Anil Seal
(B) Irfan Habib
(C) Nurul Hasan
(D) Athar Ali

152. A pendulum clock that keeps correct time
on the earth, is taken to moon. It will then run

(A) at correct rate.
(B) 6 times faster.
(C) 6 times faster.
(D) V6 times slower.

153. Article21 e Indian Constitution ensues
(A) Right to Religion
(B) Due Process of Law
(C) Right to Life and Personal Liberty
(D) Procedure established by Law

154. Who wrote ‘Poverty and Unbritish Rule in
India’?
(A) Ramesh Chandra Dutt
(B) Dadabhai Naoroji
(C) A.O. Hume
(D) Amartya Sen

155. How many new Government Medical
Colleges have become functional in West Bengal
during the last ten years?

(A) 8
(B) 6
© 5
D) 3
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151. farsre afsaRmm Wi @ wifasre Fem
GGG e ?

(A) Sfea He

(B) T3 i

(C) =zFs TN

(D) SRR e

152. #{fRJod Ada 7w At @I (orgares 7
bt A et =7, o3 ¢ilb

(A) ARSI (3|
(B) 6 @¢ &S 54 |
(C) V6 @4 %© BaIA |
(D) V6 @ &A 5|

153. ©eR MR 21 72 SR I&7 AR
(A) T FATOT SfEPa |
(B) 37 IR 21&TS |
(C) &R ¢ & FhTor eI |
(D) =izw F$< aifefre »&fs |

154. ‘Poverty and Unbritish Rule in India’ agiHa
RS &2
(A) IC™vH e
(B) WISl AetAEl
(C) «.s. fFew
(D) ©ITE] 7

155. of® 7 IuCA 2AfRoaace Fouf aga AT
Tz FeTe bl TR ?

(A) 8

(B) 6

©) 5

D) 3
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156. The names of Sidho and Kanho are
associated with which rebellion?

(A) Chuar rebellion
(B) Sannyasi rebellion
(C) Santhal rebellion
(D) Kol rebellion

157. The chopping of an onion makes one cry
because of the chemical containing

(A) Sulphur
(B) Chlorine
(C) Bromine
(D) Nitrogen

158. Which one of the following sequénce of the
Himalayan ranges from south to north is correct?

(A) Karakor -. Ladakh - Zaskar-
Pir

(B) Ls askar-"Pir Panjal -
Karakoram

(C) Zaskar- Pir Panjal - Karakoram -
Ladakh

(D) Pir Panjal - Zaskar - Ladakh -
Karakoram

159. A spring of spring constant k is cut into two
equal halves. The spring constant of each half is
now

(A) k

(B) k2
©) 2
(D) 4k

160. Who had designed the first Indian National
Flag?
(A) Vicoji Rustam Kama
(B) Annie Besant
(C) Sarojini Naidu
(D) Sister Nivedita
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156. 14 @ Iea I (@I RuEneg 7o wfve?
(A) e Rearz
(B) Fayiit fararz
(C) wews Ruarz
(D) @ gz

157. flas b 79 G G 3919 IR 90

(A) AR
(B) @ifa=
(C) @fi=
(D) FRGIEA

158. wfEe (A0 Targ 2y Adenree FafRe
AL, ) (D 710 2

(A) TN - AW - GIHE - AqoNEGeT
(B) =WI¥ - GIFI - AIANGIeT - SACIAN
(C) IFIA - ARG - FRACIIAN - el
(D) ARG TIHT - AW - PR

159. 2k 7% k-7 @3 Fekee T g Ga
T30, 2ffefb fata ek s 2@

(A) k

(B) k/2

(C) 2k

(D) 4k

160. (FCIATSF AL GO S AT 3 2
(A) fo=re ww
(B) wiifd zo7re
(C) et aizy
(D) efoat Rrafrer



161. Mukutmanipur Dam is located across the
following river :

(A) Subarnarekha
(B) Dwarkeswar
(C) Barakar

(D) Kangsabati

162. A vehicle covers half the distance with
uniform speed v, and the other half with uniform
speed v,. The average speed of the vehicle is
v +Vp

2
ntv;

Lober)

Yva
Wt+v

2v] L)

(A)
(B)
©

(D) Vi +Vp

163. What proportion of the Insurance Premium
payable for Swasthya-Sathi Scheme is borne by

the State Government?
(A) 50% ‘ﬂ
B) 75%

(C) 100%
(D) None of the above

164. Started in June, 2014 by the Union
Government of India, the ‘Namami Gange’
Programme is associated with

(A) Worshipping the Ganga

(B) Canal irrigation from the Ganga
(C) River linking with the Ganga

(D) National Mission for Clean Ganga

165. Who won the French Open in 2021?
(A) Rafael Nadal
(B) Stefanos Tsitsipas
(C) Daniil Medvedev
(D) Novak Djokovic
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161. fawfEfe 9 a7 qEoaiasR e 37
(A) Refer
(B) @R
(C) IR
(D) IS

162. @3 M1 2t wfewrs FHres g Twwls
V) G T T AT v, TR T, orege AMifeta
T B I

+v
@ 3t
Nty
WV,
Py
LRAy)
vy
Vl + V2

(B)
©)

(D)

163. “fFss@s S@Eas IR AFEd A
fier T© = %y FIBF 329 FA?

(A) 50%
B) 75%
(C) 100%
(D) THwa @R 79

164. 2014 Ite ©F 26T SIS FIFEA T
ST 2T 28

(A) o1 SRl

(B) 51 (AF A

(C) 3 A T 7S

(D) i sAfvzre Trew e

165. 2021 = TG A7 TR 2 (2
(A) AP LA
(B) GOTIR oI
(C) wiife creretre
(D) Fre @ifes
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166. The ratio of the diameters of moon and
earth is nearly

(A) 1:2
B) 1:5
C) 1:4
(D) 1:8

167. Dubbed as the Dakshina Ganga (Ganges of
the South), the largest river of South India is
(A) the Godavari
(B) the Cauvery
(C) the Penganga
(D) the Mahanadi

168. What was the Carlyle Circular and when
was it issued in colonial India?

(A) Adecreetoprevent political gathéring
during the World War I.

(B) A regulati introduce English
educati ools after 1857.

(C) A dec trict use of arms by
Indian ns of colonial India from
1919 onwards.

(D) Adecreeto prevent nationalist protests
amongst students in educational
institutions during the Partition of
Bengal.

169. A heavy body and a light body have equal
kinetic energy. Then

(A) heavy body has greater momentum.
(B) light body has greater momentum.
(C) both have equal momentum.

(D) both have same angular momentum.

170. Which of the following is not a unit of
distance?

(A) Light year
(B) Parsec
(C) Furlong
(D) lJiffy
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166. b1 @R +{fRI YO AHAE SIS 2
(A) 1:2
B) 1:5
©) 1:4
(D) 1:8

167. v SRTST HIJ2L TIE &7 T W
1%t | SCE @ =&

(A) oS At

(B) I3 Tt

(C) Cofmsrmt

(D) WAl

168. IfAZE AL N @R FQ © SRS
SRS ARG e

(A) @3 fofF . =4 fgras =@
AGRoS A WiHm e |

(B) «=fo Sife Tl 1857-7 iz Rwieim
3G R 2fbee 90 |

(C) «=fb fof&F At 1919-97 »17 Soifafie
SRS SEF I S 3 |

(D) ¥zl ffF o7 @ w=eox K@
SISO S RaRaImd
GHieRe (F14 FIAF SIS ST = |

169. 93 I a7 ¢ 93 el IFT 93
sife=ife =iz | ezt

(A) ©IF @07 T ©Aa9 AFE |
(B) Z=iwl qwbd wifess Saras) A |
(C) 757 S 7w 23 |

(D) 47 €32 (FfIF S NI |

170. S5 T @0 09T 936 7 2
(A) SERE
(B) ARG
(C) TwR
(D) f&f%



171. The Hindi film ‘Padman’ released in 2018
was inspired by the true life story of
(A) Arunachalam Muruganantham
(B) R.Balki
(C) Akshay Kumar
(D) Bindeshwar Pathak

172. Who was the hero of Rampa Rebellion of
1922-24?

(A) Tanguturi Prakasam Pantulu
(B) Tiruppa Kumaran

(C) Puli Thevan

(D) Alluri Sitha Rama Raju

173. In the Constitution of India, ‘Protection of
Life and Personal Li ’is guaranteed under
Article No.

(A) 21
(B) 49
©) 73
(D) 370

174. Dilatometer is used for the measurement of
(A) electrical energy
(B) mechanical energy
(C) dimensional change in material
(D) thermal energy

175. The Nayankara system is associated with
(A) The Bahmani Kingdom
(B) The Chola Empire
(C) The Maratha Kingdom
(D) The Vijayanagara Empire
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171. 2018 (S3f& “heat ‘s B Bt
GIGR ) oA Saifzs, fof 2
(A) Arunachalam Muruganantham
(B) R.Balki
(C) Akshay Kumar
(D) Bindeshwar Pathak

172. 7= Rraieg 7199 & & (1922-24) 2
(A) HQT AP AT
B) fowsn T
(©) =ffet (e
(D) wiEffd Srel A Ag

173. ©oRed. AR SPIE, G € Jfese
RO TP S 2R @ 41T

(A) 21
(B) 49
©) 73
(D) 370

174. eI (Dilatometer) I AfiCe!
S T ?

(A) ©foe =&
(B) e =&
(C) miela @S “Afzada
(D) 9w *If&

175. THEA I (I AN /AT AT A 2
(A) AT ATy
(B) (BIs AIEy
(C) RS Ay
(D) Remeiz ey
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176. Should seniority be the only criterion for
the promotion?
Argument: 1. No: It would be an injustice to
those juniors who are
deserving and suitable for
promotion than senior
counterpart.
Otherwise senior employees
may feel humiliated.
Senior employees are more
experienced and must be
rewarded for the same.
(A) Only ‘1" is strong.

(B) Only ‘1’ and ‘2’ are strong.

(C) Only ‘1’ and ‘3’ are strong.
(D) All arguments are strong.

2. Yes:

3. Yes:

177. Exclusive Proposition: Which is the correct
option?
If a person is rich, he has lot of influence.
(A) Alok has a lot of influence, so he is
rich.
(B) Ifapersonis notrich he does not have

a lot of i Ce.
(C) Tap g d so he has a lot of
influ s
(D) Poor e cannot have influence.
178. Given set (7, 77, 140) then follows
(A) (9, 88, 180)
(B) (6, 66, 120)

(©) (8, 80, 166)
(D) (4, 10, 160)

179. How many times do the hands of a clock
coincide in a day?

(A) 24
(B) 20
) 21
(D) 22
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176. 2rSZ (Seniority) & *mmfea g1z »§
267 Sfvw e

e

°
°

1.9 ¢ @5t FAwora 2Afe i ¥sE =0
%Y @32 AT GBI TNE |

2.371 2 SIS FORR G
TEFTS ATCS AT |

3.3 ¢ S O o® G232 Gremy
SRR % ST 2oy |

(A) ‘1’ 797 @ 2reT |

(B) (I ‘1’ @ 2’ 7RI (A ey |

(C) @I ‘1’8 ‘3’ 793 [ &Sy |

(D) et e Ay |

177. &3 & 41, ©IF =S 217 Sz |

QUG NI D AT 2

(A), ST SIS 2SI N2 O (7 4 |

(B) (FIaAIZy& T 41 1l T O3 ©IF S
AS[T AT |

() O &l 932 ©fF O WE 2SR
R |

(D) wiH% IyfEa 2fer AT A =1 |

178. (7, 77, 140)— 9% G5 S aca Mwa
wfow Teal fdion 3w |
(A) (9, 88, 180)
(B) (6, 66, 120)
(C) (8, 80, 166)
(D) (4, 10, 160)

179. 1t Fe317 <f%a 151 45 o=tz fiee a2
(A) 24
(B) 20
(©) 21
(D) 22



180. Today is Thursday, the day after 59 days
will be

(A) Sunday
(B) Thursday
(C) Friday
(D) Saturday

181. Exclusive Proposition: Whichis the correct
option?
Many smokers get cancer.
(A) Cancer patients are smokers.
(B) Most smokers get cancer.
(C) Smoking may lead to cancer.
(D) Smoking is injurious to health.

182. ‘School’ is related to ‘Student’ in the same
way as ‘Hospital’ is related to

(A) Medicine
183. A building w E i feet high cast a

(B) Nurse
(C) Doctor

(D) Patient
shadow of length 96 feet. The height of telephone
tower, which cast a shadow of length 180 feet,
under similar condition is

(A) 80 feet

(B) 100 feet

(C) 120 feet

(D) 90 feet

184. Atrainis 150 mlong.Itisrunningataspeed
of 41 kmph. A man is running at 11 kmph in the
same direction as the train. In what time will it pass
the man?

(A)

(B)

18 seconds

% seconds

©

ﬁ seconds

11

(D) I seconds

APTI PLUS
5.7 v .Y/ S
180. 1% IZ=ifeaa 2@ 59 el Ata i A1 232
(A) 3=
(B) yzifear
(C) wFa=
(D) =fqa=
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181. SIS AT A 23 |

GTRCE A @ A2

(A) AR TR LA |

(B) izt guaAIfita i 23 |

(C) g IR facs «fei face #ifea |
(D) (AW TP SATF o4 |

182.

?
(A) Medicine
(B) Nurse
(C) Doctor
(D) Patient

‘School’ 2% ‘Student’ %3, 973 ‘Hospital” F

183. 64 F5 T G 1Sa QA e 96 FH | @
G2 *I7S 180 5 G (BT SN 2R 074
IO YJ?

(A) 80F%
(B) 100 %%
(C) 120 %5
(D) 90T

184. «3f5 Gra ™ 150 m| @fbx e
41 kmph | % & 11 kmph el T Galba
SRR (Mo | 6 FE Gal & Afers oo
FA@?
(A)

(B)

18 seconds

% seconds

©)

_2%6 seconds

1 seconds

& 41
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185. What is the missing number?
1,2, 10, 37, 101, 2
(A) 320
(B) 226
(C) 206
(D) 402

186. 480 students out of 1500 are enrolled in
NCC. What percentage of students are not there in
NCC?

(A) 70%
(B) 68%
©) 73%
(D) 64%

187. Mohan takes 6 hours to do a job. Laltu takes
10 hours to do the same job. How long should. it
take if Mohan and Laltu work together the same
job?

1
(A) 15

3
(B) 31-

1

©) 25 hrs.
1

(D) 3'4— hrs.

188. Choose the word in the option that is farthest
in meaning to the capitalised word.

WINSOME

(A) INSIPID

(B) UNATTRACTIVE
(C) PREJUDICE

(D) OPPOSITION

189. Naseer started from ‘X’ point and walked
straight 5 kms west, then turned left and walked
straight 3 kms and again turned left and walked
straight 7 kms. In which direction is he from point
%2

(A) South-East
(B) North-East
(C) North

(D) North-West
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185. 7’ ofF® BN" @9 72 23?2

1,2, 10,37, 101, ?
(A) 320
(B) 226
(©) 206
(D) 402

186. 15002089 T4 480 & NCC-(S AN Age&
FRR | T© =1 [ FATE 217 o 2

(A) 70%
(B) 68%
©) 73%
(D) 64%

187. (N1ZH GG & FICS 6 9B AN (7, A
TR 10 951 | €3 GFANL TS A0 T 7N (7L ?

1
(A) 15 B!
3
(B) 37 5!
(©) 2% 9

1
(D) 3Z LN

188. ‘WINSOME’ *<f63 705 fa38! &gl 72w
R MNB I #3452

(A) INSIPID

(B) UNATTRACTIVE
(C) PREJUDICE

(D) OPPOSITION

189. 7R X’ % (it Tt w3 R e sifsr
5 km (IeT | ©=9F AN 7 @ G 3 km @3]
SRR I TS Y0 G 7 km O | @29 G X
= 3% @iw i =g

(A) wfEwa-o
(B) Tez-9¢
(C) Tz

(D) Tez-vifisy



190. Should the number of holidays of
government employees be reduced?

Argument: 1. Yes: Our government employees

are having the maximum
number of holidays among
countries of the world.

2. Yes: Itis a sign of British legacy

which should be carried
forward.

3. Yes: It will speed up work and all

4. No:

pending jobs can be
completed well in time.
Employees must be given
ample spare time to spend
with family.

(A) Only ‘1’ and ‘3’ are strong.
(B) Only ‘1’, ‘2’ and ‘3’ are strong.

(C) Only

2’ is strong.

(D) None is strong.

191. Today is M

S

, after 61 days it will be

(A) Wednesday
(B) Saturday
(C) Tuesday
(D) Thursday

192. A ladder is kept against a wall. The top of
the ladder touches the wall at a height of 270 cm
from the ground. The base of the ladder is 54 cm
away from the wall on the ground. Find the length

of the ladder.

(A) /53682 cm.
(B) /68164 cm.
(©) /75816 cm.
(D) /82547 cm.

C-37

APTI PLUS

Academy for Civil Services Pvt. Ltd.

CREmNg”\ITS FOR THE NATION

190. F<3ifs I gfoa s e Efvw 2

& ¢ 1.3 2 AT (0 T TR
g0 (oI AN |
2.31 2 «ft A" Teaifeiaa «s
oz T 72 (R AT TR
3. %7 ¢ @fb P 9IS AT 932 &
I FrErefer TN 17 21|

4.9 ¢ AfIAET AL T|LAB AW
PO T FHIAmAE afo
e The |

(A) @3 ‘178 ‘3’ @M ey |

(B) @& ‘1°, 2’ @R 3’ @M aArrey |
(C) @ 2 M airaey |

(D) @IAIE ecarey w3

191. =& G 20 61 e ofF a9 232
(A) 3@
(B) *f¥a@
(C) T

(D) Iifea=

192. <30 2 CRGTIE WG FA S| 2o
wsreiel S (A& 270 cm THOR (reTEDE o

FECR | WEHA AMeE (el (AE 54 cm TR
TafFe | W2f6a Twel Fe?

(A) /53682 cm.
(B) 68164 cm.
(©) 75816 cm.
(D) /82547 cm.
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193. Pointing to a gentleman, Somenath said
“His only brother is the father of my daughter’s
father”. How is the gentleman related to Somenath?

(A) Brother-in-Law
(B) Uncle

(C) Grandfather
(D) Father

194. Manoj can type 100 pages of a report in
10 hours and Bobby can do the same in 15 hours.
They worked together for 5 hours. The remaining
work was completed by Lucy in 2 hrs. If they
received Rs. 2,400 for whole work, Lucy got

(A) Rs. 300
(B) Rs. 250
(C) Rs. 200
(D) Rs. 400

195. Exclusive ion: Which is the correct
option?

All students are not genius.

(A) Every student is not genius.
(B) Many students are not genius.
(C) Many students are genius.
(D) Every non-student is a genius.

196. ‘DUMA’ is related to ‘Russia’ in the same
way as ‘ECCLESIA’ is related to

(A) Bhutan
(B) Afganistan
(C) Greece
(D) Germany

197. Given set (8, 3, 2) then follows
(A) (168, 15, 6)
(B) (95,24,5)
(C) (63,8, 3)
(D) (15,6, 5)
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193. % SHERRE @RE EINEIY F&1ET, 87
PG SR 26 N IR A A | S
AR FANHILT F F7A4F 2

(A) *Tere
(B) I
(C) forerz
(D) 3t

194. SIS 10 TSR 100 #i1e17 90 el 5izet
FATS AWK A @ I 15 9B 900 2F ot
GFAL 5 4D e 399 | A I 76 2 96w
W 394 | O & IO Ty qW G 2,400 B
AT, O3 F F© AN ?

(A) 300 Bt
(B) 250 B!
(C) 200 Bt
(D) 400 1=t

195. ¥ wiqaiR AfeeRm 77 |
GTHCG B @0 A2
(A) 2o =g Afeerm 73 |
(B) O+ B4R AfSeiqie 77 |
(C) 1% vl AfeeN |
(D) IR BIE 7 SR 2Tej3. 2if e |

196. ‘DUMA’ ¥ ‘Russia’ 2%, %7 ‘ECCLESIA’
Iz

(A) Bhutan

(B) Afganistan

(C) Greece

(D) Germany

197. (8, 3, 2)— @2 GO SpTRel = Av7 DS
Teals Wioa a5 |

(A) (168, 15, 6)

(B) (95,24, 5)

(C) (63,8, 3)

(D) (15, 6, 5)



198. Pointing towards a girl in the picture,
Meghna said, “She is mother of ‘Jhuma’, whose
father is my son”. How is ‘Meghna’ related to the
girl in the picture?

(A) Mother

(B) Aunt

(C) Cousin

(D) Grandmother

199. What is the missing number?
32,19, 8, 2
(A) 3
(B) 12
© 5
(D) 1

200. The ratio of 6 inch to 4 feet will be
(A) 1:6
B) 1:4
(€©) 8:2 ‘ﬁ
D) 1:8
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(A) =
(B) e
(C) YTgre! @
(D)

199. 2 fbfere B @19 721 23 ?
32, 19, 8, 2
(A) 3
(B) 12
©) 5
(D) 1

200. 6 3% € 4 FWHI TATE T 2
(A)1:6
(B)
©)
(D)
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